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4. x+y=4, xy=-2 YL ], x2 +y2 9] F2?

® 5 @ 10 ® 15 @20 ® 25

2 +y?=(x+y)?-2xy
=42 -2x(-2)
=16+4=20




x?—6x+A=(x+B)*> 4, AB o] 27
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2B=-6, B=-3
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6. 22+ (V5+ VT)x+ V35 & 5aliobH?

@ (x— V5)(x— V7) @ (x— V5)(x+ V7)
® (x+ VE)(x-1) @ (x+ VB)(x+ VD)

® (x- V35)(x+1)

‘ X+ (V54 VD)x+ V5VT = (x+ VB)(x + V7)
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(2Z2-DE+ D' +1) = 2= + 1)
=28-1
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13. (x—4-2y)(x—2y+3)S H7lstH?

@x2—4xy—|—4y2—x—|—2y—12
@ X —dxy+ 4% -x+y-12
@ x®-2xy+ 4% —x+y-12
@ x2-2xy+ 42 —x+2y-12

® xX2—xy+4%-x+2y-12

B

(x—4-2y)(x =2y +3) oA x—2y =12 |3}s}H
(t=4)(t+3) =12 -1-12

t=x-2y= YolH

(x=2y)% - (x—2y) - 12

=x2—dxy+4y? —x+2y-12
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#e ot
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=Ax>+Bx+C

T C=-3
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15. 0<x<79 ™, Vx2—16x+ 64— Vx2 + 10x + 25 = 71+
@—2x+3 @ 2x+1 ® -2x-5
@ 3x-1 ® -3x+1
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Va2 — 16x + 64 — Vx2 + 10x + 25
= J&-92- /x+5)?

— |x— 8 - x +5|
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=
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>
> HE a+b=9

B

2x% = 5xy — 3y% = (x = 3y)(2x +y)
F5% A57t x - by O|BRE b =3 o]ct.

—2x* + 8xy — ay®> = (x — 3y)(-2x + cy)

= —2x2 + (6 + ¢)xy — 3cy? °l A
6+c=8,c=2

a=3c=26
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~ (B¥9 Zo]) = (2a+ 3+ 3a-5) x 2
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A & 2| %stH

= Ax? + 3Ax — 10A
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= (x=2)(x+5)(x-2)
= (x-2)%(x +5)




20. X +xy+x+yE AgEofictH?

O (x+y)(1-x @ (x+y)x-1)

® (x-y)(x+1)
@@+yE+1) O (x-y)(E-1)

‘ x(x+y)+x+y)=x+y)(x+1)




21. 4x% - 24xy 4+ 36y2 — 16 & F Ao o7
A2 o g ool

(—,7._‘—/:}) :4(x2—6xy+9y2) - 16
=4(x-3y)*-16
= (2x-6y+4) (2x— 6y —4)

© (2x=6y+4)+ (2x—6y—4) = 4x— 12y




22, (2x-3y+1)(2x+3y-1) = A7NstH?

© 4x?-3y* -1 @ 4x* -9y? -1
@4x2‘9y2+6y—1 @ 4x* 4+ 6y* -3y -1

® 4x%-3y> + 6y -1

B

(2x=3y+1)(2x+3y-1)
={2x-(By-1}{2x+ (3y-1)}
= (2x)? - 3y - 1)?

= 4x? = (9y* — 6y + 1)

= 4x% - 9y% + 6y -1




23. A=a, b, c ol A5t (Bx+a)(bx+5) = 6x* +cx—10 € W, a+b+c
o) g Tl
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> He: 11

(3x + a)(bx + 5) = 3bx* + (15 + ab)x + 5a
3bx% + (15 + ab)x + 5a = 6x> + cx — 10

3b=6 Sob=2

da = —10 Soa=-2
15+ab=c, 154+ (-2)x2=15-4=11
L e=11

Ca+btc=(-2)+2+11=11
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® (x—y-2)(x+y+8) @) (x+y-1)(x-y-1)
® (—x—y+4)(x—y+4)

B

x+4=rt2totH

(t+y)(t—y) - 16x

=12 —y2 - 16x
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